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AN A2 A0
A ME - MBR(BA/AEYGH)
Sol: OIMBIAE3E EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 749
Al 449
202 o4dl 2,076 2,076 0
= 1,038
Al 1,038
01 = LH o4 1l 2,076 2,076 0
OZ2CAHAS =H0HI 2,076,000 2,076
= 1,038
Al 1,038
OglolgsiHelotd e e (EX) 457,920 367,920 90,000
2 228,960
= 67,500
Al 161,460
301 L2 A Z 7,920 7,920 0
= 3,960
Al 3,960
MIEE43 7,920 7,920 0
OORI0IAIE S5 Mgaea 2
40,000& x1983] 7,920
= 3,960
Al 3,960
307 2I2+0 & 450,000 360,000 90,000
= 225,000
< 67,500
Al 157,500
05 pIz2tel &t 3 450,000 360,000 90,000
OoelolsSaAXJAdH 22 X& 450,000,000 450,000
= 225,000
< 67,500
Al 157,500
JASCAZUHESASENA(ET) 30,000 35,000 25,000
< 9,000
Al 21,000
201 Yet2 | 30,000 35,000 5,000
= 9,000
Al 21,000
03 A2 Z Hl 30,000 35,000 A5,000
OZSHESA 2= 2 ASHHES FIitsE
10,000, 000& *33] 30,000
= 9,000
Al 21,000
HEANTAM2AL(EBX) 10,000 10,000 0
< 3,000
Al 7,000
201 Yet2 2t 10,000 10,000 0
= 3,000
Al 7,000




AN A2 A0
M AE S MB(BA/ABOA)
Sol: OIMBIAE3E EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 10,000 10,000 0
O1.€8t=&H| 10,000
~HEANZANEE Y 10,000,0008! 10,000
< 3,000
Al 7,000
HEOPDISAE 22THE A2 (EX) 10,400 13,200 A 2,800
< 3,120
Al 7,280
201 L2l 10,400 13,200 A 2,800
< 3,120
Al 7,280
01 At 2t 2l 10,400 13,200 A 2,800
O1.det=2Hl 10,400
-HEODDISASR-EIEL: 235 €
400,000 #2604 2~ 10,400
< 3,120
Al 7,280
LESMZSAIY (B X) 16,000 0 16,000
< 4,800
Al 11,200
201 et 16,000 0 16,000
< 4,800
Al 11,200
01 At 22l 16,000 0 16,000
O1.28=8Hl 16,000
-LLESE01D 222 M
1,000& *5&+1,000% 5,000
= 1,500
Al 3,500
-GS P2 100, 000& »32K 3,200
< 960
Al 2,240
—gEegdE M 100,000& =324 3,200
< 960
Al 2,240
—AAAASAS HE HH 100, 000& *324 3,200
< 960
Al 2,240
-A 0o 2 gg 43,7503 *3204 1,400
< 420
Al 980
LTARE(R2A/22A02) 99,240 125,440 A26,200
= 12,000
Al 87,240
2AFI| Y 36,320 62,520 £.26,200
EAHEMRH 20,620 19,820 800
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294
Lo ANRSH(BA/BHAZ)
YT AIIBES EEREED
A B8 a2 (3) - HRAY - BES Ol &+ o4 SSa HlmE2
OH& ME siorg 4,000,000 4,000
= 1,200
Al 2,800
202 04l 1,200 720 480
= 360
Al 840
01 = LH YI 1,200 720 480
OALTIES HFX Het Y 3|9 &A
60,0003 x2FH 2 53| 1,200
< 360
Al 840
301 L2 Az 8,880 9,560 A 680
= 2,664
Al 6,216
09 &ALAHI B & Z 8,880 9,560 A 680
OAdZ0tE |23 3o FAX =4
7,000& «30H x122 2,520
< 756
Al 1,764
OAZ NI &=l 20,0003 = 1H«10 =128 2,400
< 720
Al 1,680
OAaZ Xl Al 60,000& 1 +102] 600
< 180
Al 420
Ozgagdst T2 18 HItL 24
2,000 40 123 960
< 288
Al 672
O20IE 2=Ad 838 & A&
60,0003 «40H 13| 2,400
= 720
Al 1,680
401 AIEHIZ 28I 10,000 0 10,000
= 3,000
Al 7,000
01 A& HI 10,000 0 10,000
OdAdZzsits &34 10,000, 000& 14! 10,000
< 3,000
Al 7,000
405 RHoHE S HI 2,400 6,220 A 3,820
< 720
Al 1,680
01 AL EZFH S 2,400 6,220 A 3,820
OE 300, 0002 *8H 2,400
< 720
Al 1,680
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